

ITEM	DESCRIPTION	ECT OTY		22101110	T	
		EST. QTY 15,000	-	PRICING	EX	TENDED
1	REMOVAL AND DISPOSAL OF EXISTING SIDEWALK	SF	\$	0.91 PER SF	\$	13,650.00
		15,000		0.01 12001	7	10,000.00
2	NEW SIDEWALK	SF	\$	6.00 PER SF	\$	90,000.00
3	SODDING	1,200 SF	\$	0.62 PER SF	\$	744.00
4	SAW CUT FULL DEPTH 4"	100 LF	\$	6.44 PER LF	\$	644.00
5	SAW CUT FULL DEPTH 6" DRIVEWAY/PAVEMENT	1 LF	\$	10.25 PER LF	\$	10.25
6	SAW CUT FULL DEPTH 8" CONCRETE PAVEMENT	1 LF	\$	13.25 PER LF	\$	13.25
7	REMOVAL AND DISPOSAL OF EXISTING DRIVEWAY/PAVEMENT	1 SF	\$	4.12 PER SF	\$	4.12
8	NEW 6" DRIVEWAY	1,200 SF	\$	7.25 PER SF	\$	8,700.00
9	NEW 8" DRIVEWAY	1 SF	\$	8.00 PER SF	\$	8.00
10	NEW 6" X 6" CURB	150 LF	\$	5.00 PER LF	\$	
11	CONCRETE STREETS; PAVING ALL THICKNESSES, ALL TYPES (APPROXIMATELY 5,250 SF ANNUALLY)		۸	J.OU FER LF	3	750.00
Α.	MOBILIZATIONS LESS THAN 50 SF	1 EA	\$	004 00 FA	\$	824.00
В.	MOBILIZATIONS 50-200 SF	1 EA	\$	824.00 EA	\$	515.00
C.	MOBILIZATIONS 201-500 SF	1 EA	\$	515.00 EA 412.00 EA	\$	412.00
D.	MOBILIZATIONS OVER 500 SF	1 EA	\$	309.00 EA	\$	
12	THE REPAIR OF STORMWATER COLLECTION BOXES AND/OR MANHOLES, ALL TYPES INCLUDING, CURB INLETS, CATCH BASINS, AREA DRAINS, JUNCTION BOXES, AND MANHOLES, INCLUDING INTERIOR AND EXTERIOR BOX INTEGRITY AND PIPING INTO AND OUT OF THE BOX.			0007.00		309,00
Α.	INLET 0 TO 4 FEET	9 EA	\$	309.00 EA	\$	2,781.00
В.	INLET 4 TO 8 FEET	9 EA	\$	412.00 EA	\$	3,708.00
C.	STORM MANHOLE 4 TO 8 FEET	10 EA	\$	412.00 EA	\$	4,120.00
D.	STORM MANHOLE 8 TO 12 FEET	2 EA	\$	772.50 EA	\$	1,545.00
13	SAW AND REMOVE, DISPOSE OFFSITE AND REPLACE APPROXIMATELY 5,250 SF ANNUALLY OF EXISTING CONCRETE PAVEMENTS, ALL THICKNESSES (INCLUDING CURBS, MEASURED HORIZONTALLY TO THE BACK OF THE CURB), FROM VARIOUS PUBLIC RIGHTS-OF-WAY OR EASEMENTS CITY WIDE			,	T	1,040.00
Α.	NEW 4" CONCRETE #3 REBAR 15" OC	1 SF	\$	6,00 SF	\$	6.00
В.	NEW 6" CONCRETE #3 REBAR 12" OC		\$	7.25 SF	\$	7.25
c.	NEW 7" CONCRETE #4 REBAR 24" OC	7,000,000	\$	7.75 SF	\$	7.75



Ĭ	1					
D.	NEW 8" CONCRETE #4 REBAR 12" OC	1 SF	\$ 8.00	SF	\$	8.00
E.	DEMO AND NEW 4" CONCRETE #3 REBAR 15" OC	1 SF	\$ 6.91	SF	\$	6.91
F.	DEMO AND NEW 6" CONCRETE #3 REBAR 12" OC	1 SF	\$ 11.37	SF	\$	11.37
G.	DEMO AND NEW 7" CONCRETE #4 REBAR 24" OC	1.SF	\$ 11.87	SF	\$	11.87
Н.	DEMO AND NEW 8" CONCRETE #4 REBAR 12" OC	1 SF	\$ 12 12	SF	\$	12.12
l.	DEMO AND NEW 6" X 6" CURBS	1 LF	\$ 12.00	LF	\$	12.00
J.	SAW CUTTING FULL DEPTH 4"	75 LF	\$ 6.44	LF	\$	483.00
K.	SAW CUTTING FULL DEPTH 6"	75 LF	\$ 10.25	LF	\$	768.75
L.	SAW CUTTING FULL DEPTH 7"	75 LF	\$ 12.36	LF	\$	927,00
M.	SAW CUTTING FULL DEPTH 8"	75 LF	\$ 13.25	LF	\$	993.75
14	CONCRETE PUMPING; RAISING CONCRETE SIDEWALKS AND STREETS, THICKNESS OF ALL TYPES	7,500 LF	\$ 24.23	LF	\$	181,725.00
15	REPAIR OR INSTALLATION OF ADA RAMPS				T .	
Α.	TYPE 7 ADA RAMP	50 EA	\$ 712.00	EA	\$	35,600.00
В.	TYPE 9 ADA RAMP	50 EA	\$ 748.00	EA	\$	37,400.00
16	SLOPE PAVING		7 10.00		Υ	37,400.00
Α.	SLOPE PAVING 4" #4 REBAR 24" OC	1 SF	\$ 28.90	SF	\$	28.90
В.	SLOPE PAVING 6" #4 REBAR 24" OC	1 SF	\$ 29.90	SF	\$	29.90

Total: \$___386,777.19

DUE DATE: Tuesday, April 30, 2019 by 10:00 a.m. Unit prices listed above are good for ninety (90) calendar days after receipt of proposal.

BROOKS CONCRETE INC			
Name of Firm/Company			
CHRIS BROOKS	Vice President		
Agent's Name (Please Print)	Agent's Title		
4018 ALLEN GENOA RD	PASADE	NA, TEXAS 77	504
Mailing Address	City	State	Zip
713-947-8440	713-906-8334		
Telephone Number	Cell Phone Numl	ber	
sales@brooksconcreteinc.com			
Email Address			
Authorized Signature	Date		
	Page 8 of 26		





ITEM	DESCRIPTION	EST. QTY	PRICING	EXTENDED -	
1	REMOVAL AND DISPOSAL OF EXISTING SIDEWALK	15,000 SF	\$ 1.75 PER SF	\$26,250.00	
2	NEW SIDEWALK	15,000 SF	\$ 4.49 PER SF	\$ 97,350.00	
3	SODDING	1,200 SF	\$ 0.65 PER SF	\$ 780.00	
4	SAW CUT FULL DEPTH 4"	100 LF	\$ 3.20 PER LF	\$ 320.00	
5	SAW CUT FULL DEPTH 6" DRIVEWAY/PAVEMENT	1 LF	\$ 5.20 PER LF	\$ 5.20	
6	SAW CUT FULL DEPTH 8" CONCRETE PAVEMENT	1 LF	\$ 6.20 PER LF	\$ 6.20	
7	REMOVAL AND DISPOSAL OF EXISTING DRIVEWAY/PAVEMENT	1 SF	\$ 1.75 PER SF	\$ 1.75	
8	NEW 6" DRIVEWAY	1,200 SF	\$ 7.95 PER SF	\$ 9,540.00	
9	NEW 8" DRIVEWAY	1 SF	\$ 10.95 PER SF	\$ 10.95	
10	NEW 6" X 6" CURB	150 LF	\$ 16.00 PER LF	\$ 2,400.00	
11	CONCRETE STREETS; PAVING ALL THICKNESSES, ALL TYPES (APPROXIMATELY 5,250 SF ANNUALLY)				
Α.	MOBILIZATIONS LESS THAN 50 SF	1 EA	\$ 0.00 EA	\$ 0.00	
В.	MOBILIZATIONS 50-200 SF	1 EA	\$ 0.00 EA	\$ 0.00	
C.	MOBILIZATIONS 201-500 SF	1 EA	\$ 0.00 EA	\$ 0.00	
D.	MOBILIZATIONS OVER 500 SF	1 EA	\$ 0.00 EA	\$ 0.00	
12	THE REPAIR OF STORMWATER COLLECTION BOXES AND/OR MANHOLES, ALL TYPES INCLUDING, CURB INLETS, CATCH BASINS, AREA DRAINS, JUNCTION BOXES, AND MANHOLES, INCLUDING INTERIOR AND EXTERIOR BOX INTEGRITY AND PIPING INTO AND OUT OF THE BOX.				
A.	INLET 0 TO 4 FEET	9 EA	\$ 825.00 EA	\$ 7,425.0	
B.	INLET 4 TO 8 FEET	9 EA	\$ 1,075.00 EA	\$ 9,675.0	
C.	STORM MANHOLE 4 TO 8 FEET	10 EA	\$ 1,125.00 EA	\$ 11,250.00	
D.	STORM MANHOLE 8 TO 12 FEET	2 EA	\$ 1,375.00 EA	\$ 2,750.00	
13	SAW AND REMOVE, DISPOSE OFFSITE AND REPLACE APPROXIMATELY 5,250 SF ANNUALLY OF EXISTING CONCRETE PAVEMENTS, ALL THICKNESSES (INCLUDING CURBS, MEASURED HORIZONTALLY TO THE BACK OF THE CURB), FROM VARIOUS PUBLIC RIGHTS-OF-WAY OR EASEMENTS CITY WIDE				
A.	NEW 4" CONCRETE #3 REBAR 15" OC	1 SF	\$ 4.49 SF	\$ 6.49	
В.	NEW 6" CONCRETE #3 REBAR 12" OC	1 SF	\$ 8.29 SF	\$ 8.29	
C.	NEW 7" CONCRETE #4 REBAR 24" OC	1 SF	\$ 8.94 SF	\$ 8.94	



	•	E		i e
NEW 8" CONCRETE #4 REBAR 12" OC	1 SF	\$ 10.48	SF	\$ 10.98
DEMO AND NEW 4" CONCRETE #3 REBAR 15" OC	1 SF	\$ 9.14	SF	\$ 8.14
DEMO AND NEW 6" CONCRETE #3 REBAR 12" OC	1 SF	\$ 9.89	SF	\$ 9.89
DEMO AND NEW 7" CONCRETE #4 REBAR 24" OC	1 SF	\$ 10.54	SF	\$ 10.54
DEMO AND NEW 8" CONCRETE #4 REBAR 12" OC	1 SF	\$ 12.58	SF	\$ 12.58
DEMO AND NEW 6" X 6" CURBS	1 LF	\$ 18.00	LF	\$ 18.00
SAW CUTTING FULL DEPTH 4"	75 LF	\$ 3.20	LF	\$ 240.00
SAW CUTTING FULL DEPTH 6"	75 LF	\$ 5.20	LF	\$ 390.00
SAW CUTTING FULL DEPTH 7"	75 LF	\$ 5.75	LF	\$ 431.25
SAW CUTTING FULL DEPTH 8"	75 LF	\$ 6.20	LF	\$ 465.00
CONCRETE PUMPING; RAISING CONCRETE SIDEWALKS AND STREETS, THICKNESS OF ALL TYPES	7,500 LF	\$ 29.35	LF	\$ 220,125.00
REPAIR OR INSTALLATION OF ADA RAMPS				
TYPE 7 ADA RAMP	50 EA	\$ 1,800.00	EA	\$ 99,000.00
TYPE 9 ADA RAMP	50 EA	\$ 2,650.00	EA	\$ 132,500.00
SLOPE PAVING				
SLOPE PAVING 4" #4 REBAR 24" OC	1 SF	\$ 15.00	SF	\$ 15.00
SLOPE PAVING 6" #4 REBAR 24" OC	1 SF	\$ 32.00	SF	\$ 32.00
	DEMO AND NEW 4" CONCRETE #3 REBAR 15" OC DEMO AND NEW 6" CONCRETE #3 REBAR 12" OC DEMO AND NEW 7" CONCRETE #4 REBAR 24" OC DEMO AND NEW 8" CONCRETE #4 REBAR 12" OC DEMO AND NEW 6" X 6" CURBS SAW CUTTING FULL DEPTH 4" SAW CUTTING FULL DEPTH 6" SAW CUTTING FULL DEPTH 7" SAW CUTTING FULL DEPTH 8" CONCRETE PUMPING; RAISING CONCRETE SIDEWALKS AND STREETS, THICKNESS OF ALL TYPES REPAIR OR INSTALLATION OF ADA RAMPS TYPE 7 ADA RAMP TYPE 9 ADA RAMP SLOPE PAVING SLOPE PAVING 4" #4 REBAR 24" OC	DEMO AND NEW 4" CONCRETE #3 REBAR 15" OC DEMO AND NEW 6" CONCRETE #3 REBAR 12" OC DEMO AND NEW 7" CONCRETE #4 REBAR 24" OC DEMO AND NEW 8" CONCRETE #4 REBAR 12" OC DEMO AND NEW 6" X 6" CURBS 1 LF SAW CUTTING FULL DEPTH 4" SAW CUTTING FULL DEPTH 6" SAW CUTTING FULL DEPTH 8" CONCRETE PUMPING; RAISING CONCRETE SIDEWALKS AND STREETS, THICKNESS OF ALL TYPES TYPE 7 ADA RAMP TYPE 7 ADA RAMP SO EA SLOPE PAVING SLOPE PAVING 4" #4 REBAR 24" OC 1 SF 1 S	DEMO AND NEW 4" CONCRETE #3 REBAR 15" OC DEMO AND NEW 6" CONCRETE #3 REBAR 12" OC DEMO AND NEW 7" CONCRETE #4 REBAR 24" OC DEMO AND NEW 8" CONCRETE #4 REBAR 12" OC DEMO AND NEW 8" CONCRETE #4 REBAR 12" OC DEMO AND NEW 6" X 6" CURBS DEMO AND NEW 6" X 6" CURBS SAW CUTTING FULL DEPTH 4" SAW CUTTING FULL DEPTH 6" SAW CUTTING FULL DEPTH 6" SAW CUTTING FULL DEPTH 8" CONCRETE PUMPING; RAISING CONCRETE SIDEWALKS AND STREETS, THICKNESS OF ALL TYPES REPAIR OR INSTALLATION OF ADA RAMPS TYPE 7 ADA RAMP TYPE 9 ADA RAMP SO EA \$ 1,800.00 SLOPE PAVING \$ 15.00	DEMO AND NEW 4" CONCRETE #3 REBAR 15" OC 1 SF \$ 0.14 SF DEMO AND NEW 6" CONCRETE #3 REBAR 12" OC 1 SF \$ 9.89 SF DEMO AND NEW 7" CONCRETE #4 REBAR 24" OC 1 SF \$ 10.54 SF DEMO AND NEW 8" CONCRETE #4 REBAR 12" OC 1 SF \$ 10.54 SF DEMO AND NEW 8" CONCRETE #4 REBAR 12" OC 1 SF \$ 12.53 SF DEMO AND NEW 6" X 6" CURBS 1 LF \$ 13.00 LF SAW CUTTING FULL DEPTH 4" 75 LF \$ 3.20 LF SAW CUTTING FULL DEPTH 6" 75 LF \$ 5.76 LF SAW CUTTING FULL DEPTH 8" 75 LF \$ 5.76 LF CONCRETE PUMPING; RAISING CONCRETE SIDEWALKS AND STREETS, THICKNESS OF ALL TYPES 7,500 LF \$ 29.35 LF REPAIR OR INSTALLATION OF ADA RAMPS TYPE 7 ADA RAMP 50 EA \$ 1,800.00 EA SLOPE PAVING SLOPE PAVING 4" #4 REBAR 24" OC 1 SF \$ 15.00 SF

Total: \$ 612,056.20

<u>DUE DATE: Tuesday, April 30, 2019 by 10:00 a.m.</u> Unit prices listed above are good for ninety (90) calendar days after receipt of proposal.

Teamwork Construction Services, I	ne.		
Name of Firm/Company			
John Greenwood	President		
Agent's Name (Please Print)	Agent's Title		
9715 Market Street	Houston	Tx	77029
Mailing Address	City	State	Zip
281-991-7330	281-740-05	72	
Telephone Number	Cell Phone Num	ber	
John 4@ teamwater on struction ret			
Empil Address			
John Dreenway	4-30-2019		
Authorized Signature	Date		
V	age 8 of 26		



ITEM	DESCRIPTION	EST. QTY	PRICING		EXTENDED
1	REMOVAL AND DISPOSAL OF EXISTING SIDEWALK	15,000 SF	\$1.80	PER SF	\$27,000.00
2	NEW SIDEWALK	15,000 SF	\$8.00	PER SF	\$120,000.00
3	SODDING	1,200 SF	\$0.70	PER SF	\$840.00
4	SAW CUT FULL DEPTH 4"	100 LF	\$7.00	PER LF	\$700.00
5	SAW CUT FULL DEPTH 6" DRIVEWAY/PAVEMENT	1 LF	\$9.00	PER LF	\$9.00
6	SAW CUT FULL DEPTH 8" CONCRETE PAVEMENT	1 LF	\$12.00	PER LF	\$12.00
7	REMOVAL AND DISPOSAL OF EXISTING DRIVEWAY/PAVEMENT	1 SF	\$1.80	PER SF	\$1.80
8	NEW 6" DRIVEWAY	1,200 SF	\$8.00	PER SF	\$9,600.00
9	NEW 8" DRIVEWAY	1 SF	\$9.00	PER SF	\$9.00
10	NEW 6" X 6" CURB	150 LF	\$6.00	PER LF	\$900.00
11	CONCRETE STREETS; PAVING ALL THICKNESSES, ALL TYPES (APPROXIMATELY 5,250 SF ANNUALLY)		1		
Α.	MOBILIZATIONS LESS THAN 50 SF	1 EA	\$1,250.00	EA	\$1,250.00
В.	MOBILIZATIONS 50-200 SF	1 EA	\$2,500.00	EA	\$2,500.00
C.	MOBILIZATIONS 201-500 SF	1 EA	\$3,500.00	EA	\$3,500.00
D.	MOBILIZATIONS OVER 500 SF	1 EA	\$5,000.00	EA	\$5,000.00
12	THE REPAIR OF STORMWATER COLLECTION BOXES AND/OR MANHOLES, ALL TYPES INCLUDING, CURB INLETS, CATCH BASINS, AREA DRAINS, JUNCTION BOXES, AND MANHOLES, INCLUDING INTERIOR AND EXTERIOR BOX INTEGRITY AND PIPING INTO AND OUT OF THE BOX.				
Α.	INLET 0 TO 4 FEET	9 EA	\$780.00	EA	\$7,020.00
В.	INLET 4 TO 8 FEET	9 EA	\$1,105.00	EA	\$9,945.00
C.	STORM MANHOLE 4 TO 8 FEET	10 EA	\$1,170.00	EA	\$11,700.00
D.	STORM MANHOLE 8 TO 12 FEET	2 EA	\$1,560.00	EA	\$3,120.00
13	SAW AND REMOVE, DISPOSE OFFSITE AND REPLACE APPROXIMATELY 5,250 SF ANNUALLY OF EXISTING CONCRETE PAVEMENTS, ALL THICKNESSES (INCLUDING CURBS, MEASURED HORIZONTALLY TO THE BACK OF THE CURB), FROM VARIOUS PUBLIC RIGHTS-OF-WAY OR EASEMENTS CITY WIDE				
Α.	NEW 4" CONCRETE #3 REBAR 15" OC	1.SF	\$8.00	SF	\$8.00
В.	NEW 6" CONCRETE #3 REBAR 12" OC	1 SF	\$8.95	SF	\$8.95
C.	NEW 7" CONCRETE #4 REBAR 24" OC	1 SF	\$9.55	SF	\$9.55



			8		2
D.	NEW 8" CONCRETE #4 REBAR 12" OC	1 SF	\$10.45	SF	\$10.45
E.	DEMO AND NEW 4" CONCRETE #3 REBAR 15" OC	1 SF	\$8.25	SF	\$8.25
F.	DEMO AND NEW 6" CONCRETE #3 REBAR 12" OC	1 SF	\$9.50	ŠF	\$9.50
G.	DEMO AND NEW 7" CONCRETE #4 REBAR 24" OC	1 SF	\$10.40	SF	\$10.40
Н.	DEMO AND NEW 8" CONCRETE #4 REBAR 12" OC	1 SF	\$11.45	SF	\$11.45
· 1.	DEMO AND NEW 6" X 6" CURBS	1 LF	\$8.00	LF	\$8.00
J.	SAW CUTTING FULL DEPTH 4"	75 LF	\$5.20	LF	\$390.00
K.	SAW CUTTING FULL DEPTH 6"	75 LF	\$7.80	LF	\$585.00
L.	SAW CUTTING FULL DEPTH 7"	75 LF	\$9.10	LF	\$682.50
M.	SAW CUTTING FULL DEPTH 8"	75 LF	\$10.50	LF	\$787.50
14	CONCRETE PUMPING; RAISING CONCRETE SIDEWALKS AND STREETS, THICKNESS OF ALL TYPES	7,500 LF	\$12.00	LF	\$90,000.00
15	REPAIR OR INSTALLATION OF ADA RAMPS				
Α.	TYPE 7 ADA RAMP	50 EA	\$1,250.00	EA	\$62,500.00
В.	TYPE 9 ADA RAMP	50 EA	\$1,850.00	EA	\$92,500.00
16	SLOPE PAVING				
Α.	SLOPE PAVING 4" #4 REBAR 24" OC	1 SF	\$8.00	SF	\$8.00
В.	SLOPE PAVING 6" #4 REBAR 24" OC	1 SF	\$10.00	SF	\$10.00

Total: \$450,654.35

<u>DUE DATE: Tuesday, April 30, 2019 by 10:00 a.m.</u> Unit prices listed above are good for ninety (90) calendar days after receipt of proposal.

Tandem Services, LLC			
Name of Firm/Company			
	Б		
Dustin Johnson	Partner		
Agent's Name (Please Print)	Agent's Title		
4425 FM 2351, Suite #5	Friendswood	TX	77546
Mailing Address	City	State	Zip
281-947-8378	281-850-1914		
Telephone Number	Cell Phone Numbe	er	
tandem@tandemservices.com			
Email Address			
1 lustin Colin	4/30/2019		***************************************
Authorized Signature	Date		

Page 8 of 26